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QUESTION PAPER 2008

1. 2N HCl solution will have same molar concentration as a

A.4.0NH,S50,

B.0.5NH,S50,

C.1.0NH,50,

D.2.0NH,S50,

Answer:



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_GSp8QgEBP95H

L = vvailln viaco S0Iution

2. 0One mole of methylamine on reaction with nitrous acid gives at N.T.P

A. 1.0 litre of nitrogen

B. 22.4 litres of nitrogen

C. 1.2 litres of nitrogen

D. 5.6 litres of nitrogen

Answer:

o Watch Video Solution

3. Addition of sodium acetate to 0.IM acetic acid will cause

A. increase of pH

B. decrease of pH

C.no change in pH


https://dl.doubtnut.com/l/_GSp8QgEBP95H
https://dl.doubtnut.com/l/_DaVX8Y3dkm5f
https://dl.doubtnut.com/l/_EdvBVYj8Ab76

D. change in pH that cannot be predicted

Answer:

° Watch Video Solution

4.The electronic configuration 15225%2p°3523p93d° represents a

A. Metal atom
B. Non metal atom
C. Non metallic anion

D. Metallic cation

Answer:

o Watch Video Solution

5. Unusually high boiling point of water is the result of


https://dl.doubtnut.com/l/_EdvBVYj8Ab76
https://dl.doubtnut.com/l/_6U7NzKZMD9p6
https://dl.doubtnut.com/l/_cYZISDZYTBeo

A. Intermolecular hydrogen bonding
B. Both inter-and intra-molecular hydrogen bonding
C. Intramolecular hydrogen bonding

D. High specific heat

Answer:

° Watch Video Solution

. . 'd(B)’
6.In the reaction 3A — 2B, rate of reaction +

is equal to

1 d(A)

3 dt
2 d(A)

3 dt
d(A)

C+2——
i dt

3 d(A)

2 dt

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_cYZISDZYTBeo
https://dl.doubtnut.com/l/_ZUwHEUz9doug

7.1n a given shell, the order of screening effect is

Af>d>p>s

B.s>p>d>f

Cf>p>s>d

D.p<d<s<f

Answer:

o Watch Video Solution

8. A catalyst is a substance which

A. Increases the equilibrium constant of the reaction

B. Increases the equilibrium concentration of products

C. Does not alter the reaction mechanism


https://dl.doubtnut.com/l/_ZUwHEUz9doug
https://dl.doubtnut.com/l/_xGrbETOITQ7f
https://dl.doubtnut.com/l/_mq88DahSM9cj

D. Changes the activation energy of the reaction

Answer:

° Watch Video Solution

9. Which of the following expressions gives the de Broglie relationship?

h
Ap=—
muv

h
BA=—
muv

h
CA=—
mp
D.A\m = v
b

Answer:

o Watch Video Solution

10. The bond order in 02_ ion is


https://dl.doubtnut.com/l/_mq88DahSM9cj
https://dl.doubtnut.com/l/_MBBrEiTSnjMd
https://dl.doubtnut.com/l/_roHg5n9R5t8R

A2

B.1

C.25

D.15

Answer:

o Watch Video Solution

1. The R.MS. velocity of an ideal gas at constant pressure varies with

density (d) as

1
A —

vd
B.d

C.\/d

D. d?

Answer:



https://dl.doubtnut.com/l/_roHg5n9R5t8R
https://dl.doubtnut.com/l/_0hvecsD87aNY

| ° Watch Video Solution

12. Solubility product of magnesium hydroxide at ordinary temperature is

1.96 x 10! pH of a saturated solution of magnessium hydroxide will
be

A.10.53

B.8.47

C.6.94

D.347

Answer:

° Watch Video Solution

13. If the volume of the vessel in which the reaction,

2NO(g) + O5(g) = 2NOs(g) is occurring, is diminished to one third of


https://dl.doubtnut.com/l/_0hvecsD87aNY
https://dl.doubtnut.com/l/_CPYqg1Amobks
https://dl.doubtnut.com/l/_V4C8z7Sgx0ki

its initial volume, the rate of the reaction will be increased by (here, g =

gas)

A. 3 times

B. 9 times

C. 27 times

D. 36 times

Answer:

o Watch Video Solution

14. Without performing any calculation indicate the process from the
following list for which change of entropy will be positive

C. NH,NOj3(s) = N,O(g) + 2H,0(g)


https://dl.doubtnut.com/l/_V4C8z7Sgx0ki
https://dl.doubtnut.com/l/_NdxHr0iq8r6b

D. MgO(s) + Hy(g) = Mg(s) + HyO(l)

(s =solid, | =liquid, g = gas)

Answer:

° Watch Video Solution

15. The product P of the nuclear reaction 33°U + jn — P + 32Kr + 3{n
is

A 31Sr

B. 5 La

C.i4'Ba

D. 14105

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_NdxHr0iq8r6b
https://dl.doubtnut.com/l/_eFO9G8GRS4aD
https://dl.doubtnut.com/l/_jpmk2kiLjXD4

16. The freezing point of water is depressed by 0.37°C in a 0.01 molal

NaCl solution. The freezing point of a 0.02 molal solution of urea is

depressed by

A.037°C

B.0.74°C

C.0.185°C

D.0°C

Answer:

o Watch Video Solution

17. Which one of the following gives on ozonolysis both aldehyde and

ketone :

A MQQC = CHMe

B. M€2C = CM€2


https://dl.doubtnut.com/l/_jpmk2kiLjXD4
https://dl.doubtnut.com/l/_Bzk3EALhsi4K

C. MeCH,; — C(Me) = CMe,

D. MeCH(Me) — CH = CHMe

Answer:

° Watch Video Solution

18. Benzoylation of phenol in alkaline medium is known as

A. Friedel Craft reaction

B. Wurtz-Fittig reaction

C. Schotten-Baumann reaction

D. Sabatier-Sandern's reaction

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Bzk3EALhsi4K
https://dl.doubtnut.com/l/_bdZn0yBhA9Pf

19. Which one of the following compounds is most reactive towards

nucleophilic addition?

A.CH3;CHO

B. PhRCOCH;

C. PhCOPh

D. CH;COCHj,

Answer:

o Watch Video Solution

20. Distillation of acetone with concentrated H, SO, gives

A. diacetone alcohol

B. mesityl oxide

C. mesitylene

D. Propene-2-ol



https://dl.doubtnut.com/l/_tiS50e7Dsavc
https://dl.doubtnut.com/l/_Z5G1zEXWIO23

Answer:

° Watch Video Solution

21. RCH,CH,OH can be converted into RCH,CH,;COOH by the
following sequence of steps:

A.PBrs, KCN, H;O*

B. PBr3, KCN, H, / Pt

C.KCN, H;0"

D. HCN, PB’I’3, H30+

Answer:

° Watch Video Solution

22. The major product 'P' in the following reaction is

CH,CH = CHy, — 1~ P

(peroxides)


https://dl.doubtnut.com/l/_Z5G1zEXWIO23
https://dl.doubtnut.com/l/_U3w13QUeD7jJ
https://dl.doubtnut.com/l/_APGX9511QsXB

A.CH;CH,CH,I

B.CH;CH — CH,
|

I
C.CHy — CH = CH,
|
I
D. ‘C’HQ — CHy — ‘CH2
I I
Answer:

° Watch Video Solution

23. Formation of cyanohydrin from a ketone is an example of

A. Electrophilic addition

B. Nucleophilic substitution

C. Nucleophilic addition

D. Electrophilic substitution

Answer:



https://dl.doubtnut.com/l/_APGX9511QsXB
https://dl.doubtnut.com/l/_gqyV7EoBglYZ

I & Watch Video Solution

24. Which of the following will exhibit cis - trans isomerism?

A.CHyBr — CHyBr

B.CBrs — CHjs

C.CHBr = CHBr

D.CBry = CH>

Answer:

o Watch Video Solution

25. How many primary amines are possible with the formula C4H;1 N?

Al

B.2

C.3


https://dl.doubtnut.com/l/_gqyV7EoBglYZ
https://dl.doubtnut.com/l/_i2m6bhCR1MNv
https://dl.doubtnut.com/l/_R4Fvw0gXME7Z

D.4

Answer:

° Watch Video Solution

26.The IUPAC nameof CH; — CH = CH — C = CH is

A.Pent-3-en-1-yne

B.Pent-3-en-4-yne

C. Pent-2-en - 4-yne

D. Pent-2-en - 3 -yne

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_R4Fvw0gXME7Z
https://dl.doubtnut.com/l/_HUamUMyBpEGw

27. A tripeptide is written as Glycine-Alanine-Glycine. The correct structure

of the tripeptide is

? cH
NHE/I\HH’"N"‘\/ \ 1~.1|)\ COOH

A o CH,

HH)W[' i A NH)\‘-COOH

0
|

N N
NH |/ 7 NHA T coom

|
o CH,

Y NHD [ N cooH

Answer:

° Watch Video Solution

28. Which of the following will produce only one product upon reduction

with Li ALH,?

A.CH30COCH,CHj,


https://dl.doubtnut.com/l/_O8UZYawyU1Ib
https://dl.doubtnut.com/l/_04hoeTK6vVLD

B. CH;CH,OCOCH,CH;

C.CH3;CH,OCOCH;

D. CH3;CH,OCOCH,CH,CHj

Answer:

° Watch Video Solution

29. Which pair of the following gives effervescence with aq. Na HCO3 ?

CH3;COCl, CH3;COCHjs, CH3;COOCH;3, CH3COOCOCE
I I 11 v

A.land Il
B.land IV
C.lland Il

D.land Ill

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_04hoeTK6vVLD
https://dl.doubtnut.com/l/_aUQMJG8ZgQeT

30. Which of the following acids has the smallest dissociation constant?

A CH;CHF.CO,H

B.FCH,CH,COyH

C. BTCHQCHQCOZH

D. CH3CHBT‘ COgH

Answer:

o Watch Video Solution

31. Which one of the following pairs is obtained on heating ammonium

dichromate?

A. N2 and H2O

B. NyO and H,O

C. N02 and HgO


https://dl.doubtnut.com/l/_aUQMJG8ZgQeT
https://dl.doubtnut.com/l/_dQaHCsGh5C3X
https://dl.doubtnut.com/l/_g4Oao06F2VIQ

D. NO and NO,

Answer:

° Watch Video Solution

32. Which one of the following processes is used for the manufacture of
calcium?

A. Reduction of CaO with carbon

B. Reduction of CaO with hydrogen

C. Electrolysis of a mixture of anhydrous CaCl, and KCI

D. Electrolysis of molten Ca(OH),

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_g4Oao06F2VIQ
https://dl.doubtnut.com/l/_ew7DfcmjPf7Q

33. Composition of azurite mineral is

A.CuCOs3. CuO
B. Cu(HCO;),. Cu(OH),
C.2CuCO;. Cu(OH),

D. CuCO03.2Cu(OH),

Answer:

o Watch Video Solution

34.When Kl is added to an acidified solution of sodium nitrite

A.No gas is liberated and I is set free

B. N, gas is liberated and Hl is produced

C. N,O gas is liberated and I, is set free

D. N, gas is liberated and HOI is produced


https://dl.doubtnut.com/l/_CViv17W9O2mG
https://dl.doubtnut.com/l/_wedQKyYdGBhO

Answer:

° Watch Video Solution

35. Fe(OH), can be separated from Al(OH), by the addition of

A. NaCl solution
B. dil. HCl solution
C. NaOH solution

D. NH,Cland NH,OH

Answer:

° Watch Video Solution

36. Select the incorrect statement from the following:

A. Ozone is used as germicide for the purification of air


https://dl.doubtnut.com/l/_wedQKyYdGBhO
https://dl.doubtnut.com/l/_OlivTyNSoZqV
https://dl.doubtnut.com/l/_eE7geyppEihT

B.In ozone oxygen-oxyger bond length is identical with that of

molecular oxygen

C. Ozone molecule is angular in shape

D. Ozone is an oxidising agent

Answer:

o Watch Video Solution

37. The brown complex obtained in the detection of nitrate radical is
formulated as [Fe(H,0),NO|SO,.
What is the oxidation number of Fe in this complex?

A +1

B.+2

C.+3

D.O


https://dl.doubtnut.com/l/_eE7geyppEihT
https://dl.doubtnut.com/l/_MokiIK9BLVlU

Answer:

° Watch Video Solution

38. Sodium nitrate on reduction with Zn in presence of NaOH solution,
produces ammonia. Mass of sodium nitrate absorbing one mole of
electron will be

A.7750 g

B.10.625 g

C.8.000¢g

D.9.875g

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_MokiIK9BLVlU
https://dl.doubtnut.com/l/_qZELOqnPrSKO

39. In transforming 0.01 mol of PbS to PbSOy, the volume of "10-volume"

hydrogen peroxide required will be

A 11.2 ml.

B.22.4 ml.

C.336ml.

D.44.8 ml.

Answer:

o Watch Video Solution

40. An unknown element forms an oxide. What will be the equivalent
weight of the element if the oxygen content is 20% of the above
compound by weight?

A. 16

B.32


https://dl.doubtnut.com/l/_754bIcfWWVOz
https://dl.doubtnut.com/l/_xRcwZsr2N62O

C.8

D. 64

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_xRcwZsr2N62O

